n:=1,3..80 Pf := 0.0175 p:=0.05

Ldata := 1024 DataRate := 1

Lrts:= 20 Lets:= 14 Lack:= 14 Pb:= 10 ° Pe:= 1 — (1 — pp)ristietstLdatarLack
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Tatime := 20-10 ° (SIFS := 10-10° ° (DIFS := 50-10 ° tDelay := 1-10 ~ tRTS := 352.]
Ts := tRTS + 3-tSIFS + 4-tDelay + tCTS + tDATA + tACK + tDIFS

Tc := tDIFS + tRTS + Tatime

tCTStimeout := tSIFS + tCTS + Tatime tACKtimeout := tSIFS + tACK + Tatime Terts :

Tedata := tRTS + tCTS + tDIFS + 2-tSIFS + tDATA + tACKtimeout + 3-tDelay Teack :=
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Ptr(n) .= 1 — (1 — taw)n Ps(n) := n-taw-(1 - taw) BEBfad(n) :=

1 — (1 -taw)" Pe(n):=1-Ps(n)

BEBfad(n) =
. 8><105 T T T

7.471-10°
7.449:105 610 .
7.374:105 s
7105 BEBfad(n) 4x10°F =
7.134:105 2107 .
6.959-10° 0 1 ) I
6.736°105 0 20 40 60 80
6.457-105 n
6.113-105




5.7°105

5.217-10°

4.673°10°

4.086°105

3.481°10°

2.889-10°




BEB Fading 802.11b 1Mbps

Pce := (1 —p)-(1 — Pe) Pcce :=p + (1 —p)-Pe
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6 tACK = 304-10

[0~ tCTS := 304-10

Tects := tRTS + tSIFS + tDIFS + 2-tSIFS
= tRTS + tCTStimeout + tDIFS + tDelay
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